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Câu 5. [1D5-1] Cho hàm số 
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Câu 9. [1D5-2] Cho hàm số 
[image: image42.wmf]sin3cos

yxx

=-

. Vi phân của hàm số là

A. 
[image: image43.wmf](

)

dcos3sind

yxxx

=-+

.
B. 
[image: image44.wmf](

)

dcos3sind

yxxx

=--

.


C. 
[image: image45.wmf](

)

dcos3sind

yxxx

=+

.
D. 
[image: image46.wmf](

)

dcos3sind

yxxx

=-+

.

Câu 10. [1D5-2] Cho hàm số 
[image: image47.wmf]2

sin

yx

=

. Vi phân của hàm số là

A. 
[image: image48.wmf]d–sin2d

yxx

=

. 
B. 
[image: image49.wmf]dsin2d

yxx

=

. 
C. 
[image: image50.wmf]dsind

yxx

=

. 
D. 
[image: image51.wmf]d2cosd

yxx

=

.

Câu 11. [1D5-2] Hàm số 
[image: image52.wmf]sincos

yxxx

=+

 có vi phân là

A. 
[image: image53.wmf](

)

dcos–sind

yxxxx

=

.
B. 
[image: image54.wmf](

)

dcosd

yxxx

=

.
C. 
[image: image55.wmf](

)

dcos–sind

yxxx

=

.
D. 
[image: image56.wmf](

)

dsind

yxxx

=

.
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Câu 13. [1D5-2] Cho hàm số 
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